QUIZ NR. 95

RECE E

W rozdaniach 5,12,13 gramy w turnieju par, w pozostatych w meczu

1.
& AD73

v AD1096
¢ -

& D1082

6.

& A74

v KDW54
+ 82

& D104

11.

& A75

v 632
»d K842
® 653

16.*

675

v K86

¢+ K10963
& A65

2. 3. 4. 5.*

& A4 & 763 s A64 &3

v A9 v K8 v K752 v AKD82
¢+ A32 453 ¢ A72 ¢+ A8

& AKDW42 SAKDW73 & 842 & DW1054
7. 8.* 9. 10.

& D763 & KW5 L & A82

yw v W43 v 64 v AKDW84
¢+ D974 ¢+ A87 4 9852 ¢ A32

& KD74 & W643 & KDW1062 & D

12. 13. 14. 15.

& AKD84 & AK63 s A4 & AK83

v K v A82 v AD5 v A108732
¢+ KW104 ¢+ W9654 ¢ AK1082 ¢ -

& AD2 &3 962 & W109
17. 18. 19.* 20.

« DW1082 & D97 & AD7 & AK4

v 43 v D4 v 1098 ¥ W983

¢+ KW ¢+ AD8 ¢+ D7 ¢+ KD7

& W1073 # 98765 & A10863 & AW7

1) N wchodzi pikami

2) Nlicytuje4 v

3) S otwiera 2 ¥ - stabe

4) S otwiera 1 BA (12-14). Po kontrze N licytuje 2 +.



